Ki, Mobility
/N
Rogue2 Side Guard Receiver - Color Anodized
|'f.|ih"|
Hfﬂ__,f’\.__,fxlk_-u}
@f .

3 —
| (6)
W R e
|
N1
\ '“HH_____.-* @l
1 i
IIH L:---__:_-__':-j )
Hﬁ“‘ﬂ—ﬁ""# / H“‘m.
] T F i
ifm\f‘;//f A9,
| W) - Q)
Ay 24 LY -
£ 7 o
r L. ) 3 18)
e J.r"-.rl'{:r""li =5 e S Pt |
\\ t-f;f/ %Elm -~ A7)
E | ___,.ff
Lt .
& i
r-LH'H-\. H""'.l,.--\.
e /
N
g
If retrofitting side guards, clamp on receiver is required

08-06-2025



[tem Number  Part Number  Description Quantity
5.9 501330 \C/:vcin(ljc()ar iiggd(élé%rd Clamp Receiver Assembly 1
1-4. 9 503141 eri‘ggiféc(ijeRGi;igrd Receiver Assembly Color 1
1.9 112060 \(/:V(;tljoer iiggd(ﬁzlé%rd Receiver 1-3/8" w/ Chamfer 1
2 100670 M6 x 45 BTN SHCS BLK ZC 1
3 100746 M6 Flat Washer Blk Zn 1
4 100658 M6 Nylock Nut Blk Zn 1
112061 __ | e Side Cuard Clamp Receiver 138 :
6 000554 Side Guard Clamp Mount Rigid 1
7 100780 M6 x 25 SHCS ZC 2
8 102326 Flat Washer ID .254" x OD .396" Thickness .047" 2

Zinc

08-06-2025




Color Anodizing Samples

Pewter




